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i 100kN/mM%Z#B% % -l -~ = -|3m%E#EZ S -~ = = -| 100kN/ Mm%z % = = ~ = —-|3m%Ei#B2 5 . ~ - - -
ZNLUS 1.00/ 000 ~ 461 57.48| #hLis [0.00 ~ 0.00] 1.59 8.36 LS 1.00] 500 ~ 500 57.48] Thuls | 500 ~ 500] 1.59 8.36
5 100kN/mM%Z#B% % 1.00[{0.00 ~ 0.21 103.023mZ#BRBH| - ~ = - -| 100kN/mM%#B 2% 1.00] 12.63 ~ 1350 103.02|3m%#BZ 5 ad ~ = - -
ZHUS 1.00/ 021 ~ 799 100.00f #hlist 000 ~ 799 1.93 10.14 ZHLS 1.00] 500 ~ 12.63 100.00] Zx kst | 500 ~ 13.50f 1.93 10.14
3 100kN/mM#Z#BZ % 1.00(0.00 ~ 1.11 116.78|3mZ#BR 5| - ~ = = -| 100kN/M%i#8 % % 1.00] 1152 ~ 16.30 116.78|3m%#BZ % o ~ = = =
ZHUS 100/ 1.11 ~ 890 100.00| #hlist 000 ~ 890 217 11.38 ZHLS 1.00] 500 ~ 1152 100.00] #h st | 500 ~ 16.30] 2.17 11.38
4 100kN/mM%Z#B% % 1.00/0.00 ~ 0.15 102.17|3mZ#BRSH| - ~ = = -| 100kN/ %82 % 1.00{ 1255 ~ 13.16 102.17|3m%#B %5 o ~ = = =
ZHUS 1.00/0.15 ~ 793 100.00] #hbList [000 ~ 7.93| 1.94 10.16 ZHLS 1.00f 500 ~ 1255 100.00] Zh st | 500 ~ 13.16] 1.94 10.16
5 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -] 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 737 94.07| #hbLis 000 ~ 7.37| 1.96 10.27 ZHLS 1.00] 500 ~ 10.74 94.07] ZhLlst | 500 ~ 10.74] 1.96 10.27
6 100kN/mM#Z#BZ % 1.00{0.00 ~ 0.02 100.32(3mZE#BRDH| - ~ = = -| 100kN/M%i#8 % % 1.00 11.01 ~ 11.07 100.32|3m%i#B %5 o ~ = = =
ZHUS 1.00/ 002 ~ 781 100.00| #hlust 000 ~ 7.81| 205 10.74 ZHLS 1.00] 500 ~ 11.01 100.00] Zx kst | 500 ~ 11.07[ 2.05 10.74
7 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
ZnLs 1.00{0.00 ~ 6.76 85.39] #nList 000 ~ 0.00| 1.57 8.23 znLst 1.00f 500 ~ 9.26 85.39] #nui4t | 500 ~ 9.26) 1.57 8.23
8 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00{0.00 ~ 6.15 7711 ZhLlst 1000 ~ 0.00| 1.64 8.59 znLst 1.00f 500 ~ 7.32 7711 ZnLlst | 500 ~ 7.32| 1.64 8.59
9 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00]0.00 ~ 484 60.34| ZHLlst | 0.00 ~ 0.00] 1.60 8.38 znLst 1.00f 500 ~ 532 60.34| ZnList | 500 ~ 532 1.60 8.38
10 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00]0.00 ~ 6.54 8241 ZnLis 000 ~ 0.00| 1.68 8.81 znLst 1.00f 500 ~ 7.90 8241 ZnList | 500 ~ 790 1.68 8.81
11 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00{ 0.00 ~ 454 56.68| ZHLls |0.00 ~ 0.00] 1.57 8.21 znLst 1.00f 500 ~ 503 56.68] Zn L4 | 500 ~ 503 1.57 8.21
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
ZFh s ~ Zh s ~ Zh LS ~ Zh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ Zh s ~ Zh LS ~ Zh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ Zh s ~ Zh LS ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZHN LS ~ ZThLLSE ~ FHLSE ~ T IO0)) ~
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